
MPS-RZPRO-SB 

Install instructions 

MetraOnline.com Date: 8/30/2022 REV.1 

Polaris RZR PRO XP 2020-UP 

Visit metrapowersports.com to view the available installation parts and 

ATV/UTV accessories.

KIT FEATURES 

• Unloaded Subwoofer enclosure for Polaris® PRO XP

• Enclosure mounted in dash on passenger side

• Constructed of durable and UV protected HDPE

• Mounting hardware included

• Fits 10” speakers

• 1-year limited warranty

• Internal volume: 0.59 Ft³

WHAT’S IN THE BOX 

• 10” Subwoofer enclosure

• Roll bar clamp

• (2) Torx, M6 x 1.0mm x 40mm

• (2) Speed nuts

• (3) M6 x 12 Machine screws

Having difficulties? 

Contact our tech support line at: 

Techsupport@metra-sutosound.com 

Or via phone at: 

368.257.1187 

TECH SUPPORT HOURS (EST) 

Monday-Friday: 9:00AM – 7:00PM 

Saturday: 10:00AM – 7:00PM 

Sunday: 10:00AM – 4:00PM 

Closed for most US Federal Holidays



MPS-RZPRO-SB 

Dimensions 

MetraOnline.com Technical Support: 386-257-1187 

9 5/16” Opening 

A 12” mounting surface 

B 9 5/16” Opening 

C 6.5” Mounting depth A 

B

C



MPS-RZPRO-SB 

2020-UP Polaris RZR PRO XP | Install instructions 

MetraOnline.com Technical Support: 386-257-1187 

2020-UP RZR PRO XP 

1. Remove two (2) T-40 TORX bolts and lift off hood. 2. Remove two (2) T-40 TORX bolts located under hood holding

dash in place.



MPS-RZPRO-SB 

2020-UP Polaris RZR PRO XP | Install instructions 

MetraOnline.com Technical Support: 386-257-1187 

2 

3 
3 

4 

5 

3. Remove remaining TORX bolts and panel clips holding on the

front fenders.
4. Using a soft pry tool, remove the gray trim panels from the

dashboard.



0 MPS-RZPRO-SB 

2020-UP Polaris RZR PRO XP | Install instructions 

Audio 

Screw 
T25 

T40 

MetraOnline.com Technical Support: 386-257-1187 

5. Using both hands, lift up on the tweeter housing. Sliding it up

the cage. Repeat on passengers side.
6. Remove (4) T-40 bolts from dash panel on the drivers side of

the vehicle.



MPS-RZPRO-SB 

2020-UP Polaris RZR PRO XP | Install instructions 

MetraOnline.com Technical Support: 386-257-1187 

2 
2 

3 

4

9. From the passengers side, remove the (7) T-20 TORX bolts

remaining bolts. NOTE: The glovebox is lost with installation of

sub-enclosure

8. Pull up fender panels, but do not detach from chassis. Allow

fenders to rest open.



 

MPS-RZPRO-SB 

2020-UP Polaris RZR PRO XP | Install instructions 

MetraOnline.com Technical Support: 386-257-1187 

10. Once panel is free, lay panel to the side.9. Gently pull up on the fenders to remove the locating clips,

repeat with the other fender.



 

MPS-RZPRO-SB 

2020-UP Polaris RZR PRO XP | Install instructions 

11. Locate and remove the under-dash tray support found below the center storage pocket, by removing (5) push clips and (2) T-25

TORX screws on the firewall. If vehicle has factory amplifier installed, unclip harness at connector, and lift out panel.

MetraOnline.com Technical Support: 386-257-1187 

Top-Down view 

FIREWALL 



MPS-RZPRO-SB 

2020-UP Polaris RZR PRO XP | Install instructions 

13. Insert speed nuts into molded retainers found in the passengers

foot well. These will hold the bottom of the enclosure to the

vehicle, using the secure torx screws.

12. Cut and remove shaded area, this will allow the enclosure to

fit under-dash.

MetraOnline.com Technical Support: 386-257-1187 

Speaker wire grommet 

instructions



 
14. Holding the bottom of the enclosure tight to the firewall, line up

speed nuts with enclosure holes. Install two included Torx bolts

into speed nuts.

a. With bottom bolts secure, tighten up the (3) M6x12

screws from previous step.

b. Complete install by reinstalling the dash panel, in

reverse order of removal.

13. Place sub enclosure into footwell area, with the (3) captured

nuts facing up. Pull enclosure up from inside dash cavity, secure

using M6x12 screws around roll bar.

MetraOnline.com Technical Support: 386-257-1187 

MPS-RZPRO-SB 

2020-UP Polaris RZR PRO XP | Install instructions 


